
1-10 95 89 84 79 74 68 63 58 53 47
11-19 42 37 32 26 21 16 11 5 0

Es) 1⁄4 ×
4⁄1 = 1 1) 10 ×

1⁄10
= 1

2) 3⁄2 ×
2⁄3 = 1 3) 8 ×

1⁄8 = 1

4) 21⁄9 ×
9⁄21

= 1 5) 15⁄10
×

10⁄15
= 1

6) 1⁄3 ×
3⁄1 = 1 7) 5 ×

1⁄5 = 1

8) 3 ×
1⁄3 = 1 9) 7⁄4 ×

4⁄7 = 1

10) 2⁄4 ×
4⁄2 = 1 11) 9⁄10

×
10⁄9 = 1

12) 15⁄6 ×
6⁄15

= 1 13) 9 ×
1⁄9 = 1

14) 2 ×
1⁄2 = 1 15) 6 ×

1⁄6 = 1

16) 7⁄3 ×
3⁄7 = 1 17) 1⁄2 ×

2⁄1 = 1

18) 2⁄10
×

10⁄2 = 1 19) 5⁄8 ×
8⁄5 = 1

Es.
4⁄1

1.
1⁄10

2.
2⁄3

3.
1⁄8

4.
9⁄21

5.
10⁄15

6.
3⁄1

7.
1⁄5

8.
1⁄3

9.
4⁄7

10.
4⁄2

11.
10⁄9

12.
6⁄15

13.
1⁄9

14.
1⁄2

15.
1⁄6

16.
3⁄7

17.
2⁄1

18.
10⁄2

19.
8⁄5

     

Trova i reciproci per rendere vera l'equazione.

Trova i Reciproci
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Nome:

Risposte
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